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BEANRE TG REAE (BB HIX) 2B (—7.5m) MRS

% R B - RRSTiE B % B B ff & i) m o=
E R 12,532, 786
RETET 12,532, 786
HRARER AT 12,532, 786
HRARER AT 12, 205, 700
REtETE 154, 200
1 E&EtatE 1.00 154, 200 154, 200
=
RETEMBRTE 961, 400
2 FREtEMHERTE 1.00 961, 400 961, 400
=
[T 4,706, 400
3 BHEE (BBERRK) 1.00 2,553, 800 2,553, 800
=
4 BFHEFE (ERARR) 1.00 2,152, 600 2,152, 600
=
HEHE 393, 600
5 HEHE 1.00 393, 600 393, 600
=
HmE Rk 4,239, 600
6 HmEER 1.00 4,239, 600 4,239, 600
=
BIM/CIME 7 JL4ERK 610, 400
T EAKXEMEETILER 1.00 610, 400 610, 400
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BEANRE TG REAE (BB HIX) 2B (—7.5m) MRS

% R R - RARSTiE B % B B % i) m o=

S 643, 000

8 MEEMEM 1.00 643, 000 643, 000
=

& - |E 253, 500

9 & - mE 3.00 84, 500 253, 500
=]

BE 243, 600

10 BE 1.00 243, 600 243, 600
=

E#EEE 327,086

EHARE 117, 086

N E=HAME 1.00 117, 086 117,086
=

S 210, 000

12 %R 1.00 210, 000 210, 000
=




WiER THOEERAE (FREMX) FE (-7.5m) M#RRET

£ b B - K& B % = L] ® & W=
E &R i 12,205,700 + 327,086 12,532,786
EEAGE 12, 205, 700
EERE 327,086
T DAt R 12,205,700 x 53.85% ( 35% + (1 — 35% ) ) 6.572, 769
KR 12,532,786 + 6,572, 769 19, 105, 555
—REEES 19,105,555 x 53.85% ( 35% = (1 — 35%) ) — 3,896 10, 284, 445
ES {id 19,105,555 + 10, 284, 445 29, 390, 000
HERERLE 29,390,000 x 10.00% 2,939, 000
EBEEH 29,390,000 + 2,939,000 32,329,000




Rifiz -/ \v7r—o

DHOFEREARE (FKEHK) 75 (-7.5m) #MARERE

&5 1
B EEHETE XY
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.50 64, 800. 00 97,200
AR (A)
A 1.00 57,000. 00 57,000
& Hi 1YE%HeH - 1.00K 154, 200. 00 154, 200
&5 .2
ZFF  BRETSRHERE 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 3.00 64, 800. 00 194, 400
AR (A)
A 3.00 57, 000. 00 171, 000
HEm (B)
A 5.00 47, 200. 00 236, 000
AR (C)
A 5.00 38, 400. 00 192, 000
g
A 5.00 33, 600. 00 168, 000
& B 1E%HeH - 1.00K 961, 400. 00 961, 400
53
&% BEfEtE (REBERA) 1LY
2 b g - BIRTE By = B Ol ® # " =
FEHRAR (F%ET)
A 2.00 64, 800. 00 129, 600
AR (A)
A 17.00 57, 000. 00 969, 000
HEm (B)
A 17.00 47, 200. 00 802, 400
AR (C)
A 17.00 38, 400. 00 652, 800
& Hi 1E%HeH - 1.00K 2,553, 800. 00 2,553, 800
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DHOFEREARE (FKEHK) 75 (-7.5m) #MARERE

Hz5 .4
&% BEfEtE (ERARR) 14y
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 2.00 64, 800. 00 129, 600
AR (A)
A 17.00 57,000. 00 969, 000
HEm (B)
A 8.50 47, 200. 00 401, 200
AR (C)
A 17.00 38, 400. 00 652, 800
& Hi 1YE%HeH - 1.00K 2,152, 600. 00 2,152,600
5:5
&% BEHE 14y
2 b g - BIRTE By = B O ® # " =
AR (C)
A 5.00 38, 400. 00 192, 000
g
A 6. 00 33, 600. 00 201, 600
& B 1E%HeH - 1.00K 393, 600. 00 393, 600
&S .6
2% REERK 14y
2 b g - BIRTE By = B O ® # " =
AR (A)
A 2.00 57, 000. 00 114, 000
HEm (B)
A 27.00 47, 200. 00 1,274, 400
AR (C)
A 27.00 38, 400. 00 1,036, 800
g
A 54.00 33, 600. 00 1,814, 400
& B 1E%HeH - 1.00K 4,239, 600. 00 4,239, 600
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DHOFEREARE (FKEHK) 75 (-7.5m) #MARERE

&5:7
2% EARRMEETIVIER 189474y
2 b g - BIRTE By = B ® # " =
AR (A)
A 4.00 57,000. 00 228, 000
HEm (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 4.00 38, 400. 00 153, 600
g
A 4.00 33, 600. 00 134, 400
& B TEZEREH - 1.002 4T 610, 400. 00 610, 400
&5 :8
25 MESERK 14y
2 b g - BIRTE By = B ® # " =
F{EHRAR (F%ET)
A 2.00 64, 800. 00 129, 600
AR (A)
A 3.00 57, 000. 00 171, 000
HEm (B)
A 4.00 47, 200. 00 188, 800
AR (C)
A 4.00 38, 400. 00 153, 600
& Hi 1E%HeH - 1.00K 643, 000. 00 643, 000
&5 :9
2F5 : HEE - |mE HEED)
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57, 000. 00 28, 500
HEm (B)
A 0.50 47, 200. 00 23, 600
& Hi 1YEZHEH - 1.00[E 84, 500. 00 84, 500
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&5 :10
2 BE 1LY
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 2.00 64, 800. 00 129, 600
AR (A)
A 2.00 57,000. 00 114, 000
& Hi 1YE%HeH - 1.00K 243, 600. 00 243, 600
&5 11
2% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 117, 086. 00 117,086
& Hi 1E%HeH - 1.00K 117, 086. 00 117,086
&5 .12
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 210, 000. 00 210, 000
& Hi 1E%HeH - 1.00K 210, 000. 00 210, 000




